Prime Factorization LCM Practice

Name: Date:
Question 1

Find the least common multiple for each set of numbers

. 18,30,50,48
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Il 9,12,6

Il. 14,15

© 2025 Step By Stem



Prime Factorization LCM Practice

V. 180,100,450

V. 81,90
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VI. 9adb, 6ab?

VII. 8a3b?, 10a2c?
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VIIIl. a3b, b2c,ac?

IX. 6rist4, 8rs2t
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Date:

—
—

Name: Key
Question 1
Find the least common multiple for each set of numbers
. 18,30,50,48
/N /N
9 2 10
/N /N
3 3 5 2
Prime Factorizartion 1©:2-3-3
Prime Factorizartion 20:2-3-5
Prime Factorizartion>0:2-5-5
Prime Factorizartion/~:2-2-2-2-3
LCM:

2.32  — 0.
2-3:5 — 2-3-5
2.52 _— 0.
4.3 =—> .3
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Il 9,12,6

Prime Factorizartion
Prime Factorizartion
Prime Factorizartion

Il. 14,15

Prime Factorizartion
Prime Factorizartion

7N 7\
3 6 2 2
7\
3 2
3-3 _— 32
:2:2:3 =—> 22.3 —m 3
:2-3 — 2.3 —/ 23
LCM =
VRN
3 5

2 —> 27 —
:3:5 = 3.5 —

LCM:2-3-5-7 =
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V. 180,100,450

18 10 10 10 45 10
/ AN / AN / .
9 2 2 5 5 2 2 5 9 5 2 5
/N /N
3 3 3 3
Prime Factorizartion :2:2:3:3:5 =— 22.32.5 =——) -3%-5
Prime Factorizartion :2:2-5-5 —_— 22.52 —_— 22.
Prime Factorizartion :2-3-3-5:5 =——> 2.32.52 —> 2.32.52
LCM:22. 32.52 =
V. 81,90
/N /N
9 9 9 10
VNN /SN /N
3 33 3 3 35 2
Prime Factorizartion©1: 3:-3:-3:3 =—> 34 -_—

Prime Factorizartion90:2:-3-3:5 =—— 2.32.5 — 2.32.

LCM:2- 3% -5 =
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VI. 9adb, 6ab?

Prime Factorizartion
Prime Factorizartion

VII. 8a3b?, 10a2c?

Prime Factorizartion
Prime Factorizartion

:3-3-a%-b
:2-3-a-b?

LCM:

:2'2'2'8.3'b2
2-5-a2-¢c*

LCM:

_ 32.583.p) —
— 23ab2 —
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VIIIl. a3b, b2c,ac?

‘b
C
a.
LCM: a®-b?-c? =
IX. 6r3st4, 8rs?t
/7 N\ /7 N\
2 3 4 2
/7 N\
2 2
Prime Factorizartion©:2-3-r3-s-t* =— 2:3:13:5:{% =—> 2-3-17-s-
Prime Factorizartion©:2-2-2 -r-g2-t ——> 23.r.g2.t =—> 2%.r-5°¢
LCM:2°-3-r%-52.1% =
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